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MMma Astel 150

ODaTra 21.02.2018 Bpemsa 10:20:01

KpaTHOCTE MHTepdepoMeTpa: 2.000
YToJl pasBopOTa CUCTEMH KOOPIAMHAT: 0.000
CuHyC alepTypHOT'O yIJa: 0.000
Pasmep maTpuusl: 214
IaHHBIE O I'paHMIIaX 3pauduka
I'panuuel 1o X -1.000 1.000
T'paHMuUEl IO Y -1.000 1.000
OvameTp: 2.00000
KoopnuuaTte ueHTpa: : X0= 0.000 YO0=
KondduumeHT HOPMMPOBKM 3pauka 1.0000
UyCcJio 2KPaHOB Ha 3paudke: 2
N XC YC AR BE
1 0.000 0.000 1.000 1.000
2 0.019 0.000 0.360 0.360
UycJIo TOUEeK BHe 3pauka 0
UMcJio TOYeK BHE BKPaHOB 0
Uyciio Todek BHe 3*SIGMA 307
UpcJio Touek BHe 3*SIGMA 277
Uyciyio Touek BHe 3*SIGMA 162
UpcJio Touek BHe 3*SIGMA 93
Uuyciyio Touek BHe 3*SIGMA 55
UpcJio Touek BHe 3*SIGMA 32
UpcJio Touek BHe 3*SIGMA 19
Uyciyio Todek BHe 3*SIGMA 10
UpcJio Touek BHe 3*SIGMA 9
UycJio TOUeK Ha MHTepdheporpamme : 28868
*APPOLN¥* PesyneTaTH annpoKcuUMaluM
NP RMSA DISP
0 2.9864 2.9865
1 0.0370 0.0370
2 0.0291 0.0291
3 0.0172 0.0172
4 0.0134 0.0134
5 0.0117 0.0117
6 0.0080 0.0080
7 0.0071 0.0071
8 0.0067 0.0067
AHaM3 BOJIHOBOTO QpoOHTa
ODaTa: 21.02.2018 Bpems: 10:20:01

Qarin: img 4675 1.phs

Ms :

Astel 150
EovHMuE M3MepeHMsa nedopmalmi:

OnopHada NOBEPXHOCTB: cdepa
BrimeJsieHHBle abeppalluu:

dopmMa npencraBJIeHMA 3BOHAJNBbHOM omMOkM — lepHUKe
ONITUMAJIb HEIN
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IvHa BOJIHBL:

ommMboK
-0.051 C= 0.474
PV= 0.106
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PV= 0.011
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MecTHEHE omMOKM: PV= 0.069 RMS (M)= 0.011
XapakKTEepUCTUKM BOJIHOBOTO OGpoHTA

RMS MIN MAX PV STRL STRH
0.038 -0.138 0.068 0.206 0.946 0.982
X : 0.765 0.183
Y :-0.643 -0.324

Beenmen noymHOM M3 Oanna: img 4675 1.pol
Pacuer kosdpdpmumenTor llepHUKE

Kosdomumenter llepHUKE

0 0.473 KoncrTaura
-1 5.702 HakJjion X
1 -0.053 Hakjion Y
-2 -0.047 AcTUrMaTusM X
0 -0.016 HedoxrycupoBKa
2 0.024 AcTurMaTmusM Y
-3 0.006 Koma33 X
-1 -0.057 Koma X

1 0.045 Koma Y
9 3 0.001 Koma33 Y
10 -4 0.003
11 -2 0.012
12 0 -0.001 Cheprnueckas 4 nopsanok
13 2 0.012
14 4 0.002
15 -5 0.001
16 -3 0.002
17 -1 0.021
18 1 -0.019
19 3 -0.002
20 5 -0.002
22 -4 -0.004
23 -2 -0.003
24 0 -0.041 Cheprueckas 6 NOPAIOK
25 2 -0.009
26 4 -0.005
27 6 -0.003
28 =7 -0.005

0 0.003 Cheprueckas 8 mopsamok



RMSAna = 0.0000

Npow n m
W(X,Y) = SUM SUM [Cnm * Z (X,Y)]
n=0 m=-n, 2 n
m | m| | cos(Fi) m <= 0
Z (X,Y) =R (Ro) * |
n n | sin(Fi) m > O
X = Ro * cos(Fi) Y = Ro * sin(Fi)

llommuoM szanmcanH B Qann: img 4675 1.pol



